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St Thomas Aquinas High School Mr. N. Cune
5.3 Intro to Polynomials: Adding & Subtracting Polynomials

Warm Up:
“Add Polynomials™ = combine like terms of the polynomials which need to be added
1. Add the polynomials by collecting like terms. Then, simplify.
a) (3x? —2x) + (x* +x) b) (4n* —2n — 4) + (—n* + 5n) c) (Tr—8)+ (37 -11)
> x
U™ — e 30>~ 3n -4l 3(2+7r—lal
d) 2b* - 8b) + (=2 + 11b) ) (T =6t +9)+ (-2 +61—-5) ) (~14k — 10) + (8k —23)

b 5t* 44 bk -33

“Subtract Polynomials” = add the opposite expression of the polynomial that needs to be subtracted. The
opposite of a polynomial is found by taking the opposite of each its terms.
Ex: The opposite of 2x* ~3x +7 is -2x? +3x -7
2. Determine the opposite of each expression. 2
2) 6a —ba b) -3¢ -9 3¢ + 9
od-sd+2 —d* + d-a Qo +aw-08 —lwW*-9w0 +0.3

3. Subtracl%p&lynomials by adding the opposite terms, colligling like terms, and then simplifying.

a)(Sa-4)-(3a-2) b)(7-6r)-(3+7r)

Za-4+ -0+ 7-br4 30

= da - = ‘22:\444
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c)(h—l)—(3 +7) f)(4l.';k—6k+l-)q-@5) RS
h-t + -3n" -7 k> - Ll 4t + 2k =S

= =2 +h =% = K== bl - Y

4. Simplify and state the degree of your answer

TN
a)(3\ y-2x7)+ (x\\ -—) D-—S b) ( X —"\) ( -2x+3x7 )+ ( x’ —4x) D= o
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= (ox? Y- «(aug =0
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